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SM2EE
BI%E B - K IR B AENE (Y A70 2 —AhEE) 155 e
5cm 50c¢m 100cm
OB o ER (X R MEi%E) — 0.07 — PA-1000
2/2(K)BEN Q=1 — 0.07 — PA-1000
CE2 — 0.09 — PA-1000
OBt o ER (X X MEfiZE) — 0.07 — PA-1000
8/5(K) N QR — 0.06 — PA-1000
QEK2 — 0.08 — PA-1000
ERE31 4
EE X 154 5 PN o B ) I .
5cm 50c¢m 100c¢m
DBt L ER (4 R MELE) — 0.07 — PA-1000
2/3(A)Bh QE1 — 0.08 — PA-1000
QEK2 — 0.09 — PA-1000
DBt L ER (X R MELE) — 0.07 — PA-1000
8/1(R)EEh QE#E1 — 0.07 — PA-1000
QEK2 — 0.09 — PA-1000
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R 30LERE
B B - iR B AENE (Y A70 2 —AhEE) 155 e
5cm 50c¢m 100cm
OB o ER (X R MEi%E) — 0.07 — PA-1000
2/4(R)BEN Q=1 — 0.08 — PA-1000
CE2 — 0.09 — PA-1000
OBt o ER (X X MEfiZE) — 0.07 — PA-1000
8/6(R)EY QEE1 — 0.09 — PA-1000
QE %2 — 0.07 = PA-1000
TR0
B B - 0R 5 45 b L W12 P e B .
5cm 50c¢m 100cm
OB oL ER (& R NEZE) — 0.07 — PA-1000
2/6 (R)ENL QE &1 — 0.08 — PA-1000
EE2 — 0.07 — PA-1000
OBuith oL ER (& R NEZE) — 0.07 — PA-1000
8/2(K)EY QE &1 — 0.07 — PA-1000
EE2 — 0.08 — PA-1000
3/8 (7838)



x/BE

AEIZE T HMSHRERERR

e : T H4-14-9

R 284ERE
B B - iR B AENE (Y A70 2 —AhEE) 155 e
5cm 50c¢m 100cm
OB o ER (X R MEi%E) — 0.08 — PA-1000
2/3(&)BEN QEE1 — 0.08 — PA-1000
CE2 — 0.10 — PA-1000
OBt o ER (X X MEfiZE) — 0.08 — PA-1000
8/3(K)EN QE#E1 — 0.10 — PA-1000
GEH2 — 0.09 — PA-1000
FRE27EERE
A A KR A el L AEs s
5cm 50c¢m 100c¢m
DBt L ER (4 R MELE) — 0.09 — PA-1000
2/2(Q)BEN QE 1 — 0.11 — PA-1000
CEE2 — 0.10 — PA-1000
DBt L ER (X R MELE) — 0.09 — PA-1000
8/4(N)HEN QE &1 — 0.11 — PA-1000
GEK2 — 0.09 — PA-1000
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TR 264EFE
B B - iR B AENE (Y A70 2 —AhEE) 155 e
5cm 50c¢m 100cm
OB o ER (X R MEi%E) — 0.10 — PA-1000
2/3(N)EN Q=1 — 0.12 — PA-1000
CE2 — 0.11 — PA-1000
OBt o ER (X X MEfiZE) — 0.10 — PA-1000
11/50K)£Y QE#E1 — 0.12 — PA-1000
CE2 — 0.12 — PA-1000
DBt L ER (X R MELE) — 0.10 — PA-1000
8/7 (R)HEN QR — 0.13 — PA-1000
CE2 — 0.11 — PA-1000
OB B ER (X R M%) — 0.11 — PA-1000
571 (K)Eh QE 1 — 0.12 — PA-1000
GEK2 — 0.13 — PA-1000
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AEE X A AR@AT0 — R hER) nEs %
5cm 50cm 100cm

OFih Bl ER (& R MfZE) — 0.12 — PA-1000
3/10(R) Eh QEH1 — 0.14 — PA-1000
QK2 — 0.12 — PA-1000
) DEhtth i ED (X A MERZE) — 0.12 — PA-1000
1 /‘ﬁ%iﬁgﬁ%h QEE1 — 0.14 — PA-1000
QEHK2 — 0.12 — PA-1000
Oghth Bl EB (F R MEHEE) — 0.13 — PA-1000
11.711(A) Bh QE &1 — 0.15 — PA-1000
QHEKE2 — 0.16 — PA-1000
OEih Bl ER (&4 R MfiZE) — 0.15 — PA-1000
QE#1 — 0.16 — PA-1000
9./110K) £Y QGE2 — 0.14 — PA-1000

ANF — 016 — PA-1000 EERFBIE (REFEIFH D ATFEIE A B S 55 FF)

BAZF — 014 — PA-1000 ”
Oghth il EB (F R MEHEE) —_ 0.14 — PA-1000
7790K) BEh QE#1 — 0.2 — PA-1000
©E}:- — 0.22 — PA-1000
OEih Bl ER (4 R MEfiZE) — 0.13 — PA-1000
5.22(K) BEh QE&1 — 0.15 — PA-1000
QGE2 — 0.13 — PA-1000
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I B - X 0E 1% 5 AZE(RXATOY—ANEER) | gz s
5cm 50cm 100cm
Dt i ED (X A MERZE) — 0.15 — PA-1000
3/120K) EAL QE#E1 — 0.19 — PA-1000
QEK2 — 0.15 — PA-1000
OFih dh L ER (& R MEfZE) — 0.14 — PA-1000
2/130Kk) BEh QEH1 — 0.17 — PA-1000
QEK2 — 0.16 — PA-1000
i OEih Bl ER (4 R MfiZE) — 0.17 — PA-1000
1/;T(mﬁzf¢ﬁ§h QE 1 — 0.17 — PA-1000
QE 2 — 0.16 — PA-1000
DEih dh il ER (& R MEf%E) — 0.17 — PA-1000
12712(k) Bh QE#E1 — 0.17 — PA-1000
QEE2 — 0.16 — PA-1000
OEith Bl ER (4 R MfiZE) — 0.17 — PA-1000
11.713(k) £Y Q=1 — 0.17 — PA-1000
QE 2 — 0.18 — PA-1000
Dt i ED (4 R MERLE) — 0.15 — PA-1000
10710(7k) BEh QE#1 — 0.17 — PA-1000
QEE2 — 0. 20 — PA-1000
OEhth L ER (F R NEEEE) — 0.16 — PA-1000
9.712(K) Bh QE&1 — 0.16 — PA-1000
QE2 — 0.19 — PA-1000
Dt i ED (X A MEREE) — 0.17 — PA-1000
879(K) HEN QEE1 — 0.19 — PA-1000
QE2 — 0. 20 — PA-1000
OEhth il ER (2 R NEEEE) — 0.17 — PA-1000
7710(K) BEAQ Q=R — 0.19 — PA-1000
QE 2 — 0.16 — PA-1000
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k23~ 244
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5cm 50cm 100cm
Dt e ER (X A NG — 0.18 — PA-1000
6715(&) Bh QEH1 — 0. 23 — PA-1000
QE 2 — 0.19 — PA-1000
DBt i ER (X A NERZE) — 0.19 — PA-1000
5/17(K) Bh QE — 0.18 — PA-1000
QE 2 — 0. 21 — PA-1000
Dt 3D (X ANGHEE) — 0.18 — PA-1000
4,°20(%) Bh QEIRE1 — 0. 25 — PA-1000
QEH2 — 0.19 — PA-1000
OEh Bl ER (4 R Efi%E) — 0. 21 — PA-1000
3210k) EBh QE1 — 0. 21 — PA-1000
QE 2 — 0. 22 — PA-1000
Dt R ED (X ANGHLEE) — 0. 23 0. 23 PA-1000
2/10(%&) Bh QEIRE1 — 0. 23 — PA-1000
QE 2 — 0. 22 — PA-1000
X DEh Bl ER (4 R Efi%E) — 0. 21 0. 21 PA-1000
1/?;(&7,3;@5%& QB 1 — 0. 24 — PA-1000
QE 2 — 0. 31 — PA-1000
" Bt epul BB (2 R EEE) — 0. 22 0. 21 PA-1000
12719(7) Wi LEBIAYOHE _ 0. 27 — PA-1000
1116 (K) BN | Buthe i (X AEE) — 0. 21 0. 22 PA-1000
Bith o ER (2 R NEEE) — 0. 23 0. 21 PA-1000
R £ 7k #t — 0. 27 — PA-1000
107250%) B AR — 0. 27 — PA-1000
IKERA 158K B — 0. 24 — PA-1000
) oK #t — 0. 28 — PA-1000
9 /;'Zf’%‘;’i%u HESA — 0. 28 — PA-1000
TKER A 35 KB — 0. 26 — PA-1000
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